
 
 

 

73 
 

 
   

  
 Karush-Kuhn-Tucker System  

  
••KKT 
• 

14Introduction 

, , ,x w y z∆ ∆ ∆ ∆ 

 

1.4A x w ρ∆ + ∆ = 
2.4TA y z σ∆ − ∆ = 
3.4Z x X z e XZeµ∆ + ∆ = − 
4.4W y Y w e YWeµ∆ + ∆ = − 
 


 

5.4

1 1

1 1

0 0
0 0

0 0
0 0

T

zXZ I Z e x
yA I
zI A
wI YW W e y

µ
ρ
σ

µ

− −

− −

∆   − − − + 
    ∆     =
    ∆−
    ∆ −       

 
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  Karush-Kuhn-

Tucker KKT
2 2n m+2 2n m+







KKT
 

 24KKT    The Reduced KKT System   

XY3.4
4.4

5.43.44.4z∆w∆ 
1

1

( )
( )

z X e XZe Z x
w Y e YWe W y

µ

µ

−

−

∆ = − − ∆

∆ = − − ∆
 

1.42.4KKT
 

6.41 1A x Y W y Y e wρ µ− −∆ − ∆ = − + 
7.41 1TA y X Z x X e zσ µ− −∆ + ∆ = + − 

   ρ σ      
 

1 1

1 1T T

yY W A b Ax Y e
xA X Z c A y X e

µ
µ

− −

− −

∆   − − − 
=    ∆ − +    

 
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KKT

 

34The Normal Equations   

6.4
y∆7.47.4x∆

6.4
7.4 

1 1( )T Tx XZ c A y X e A yµ− −∆ = − + − ∆ 
x∆6.4 

1 1 1

1 1

( )
( )

T

T

Y W AXZ A y b Ax Y e
AXZ c A y X e

µ

µ

− − −

− −

− + ∆ = − −

− − +
 

mm


1 1 TY W AXZ A− −+1Y W−
1 TAXZ A− 

Asparse 
1 TAXZ A−
1 TAXZ A−
( , )i j th

 
8.41

1

( )
n

T k
ij ik jk

k k

xAXZ A a a
z

−

=

= ∑ 
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( , )i j thi

jA



A

8.4 



6.4

y∆ 
1 1( )y YW b Ax Y e A xµ− −∆ = − − − − ∆ 

7.4 
1 1 1

1 1

( )
( )

T T

T

A YW A X Z x c A y X e
A YW b Ax Y e

µ

µ

− − −

− −

+ ∆ = − +

+ − −
 

nn





 






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A



A

 

 
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 
 

1.4 
1 1 1 1( ) ( )T T TE ADA E EA A EA D A E− − − −+ = − + 

 
2.41.4 

2 2 2 2 1 2 1

2 2

( ( ) )( )
( )( )

T T T

T T

x D D A E AD A AD c A y X e
D A E AD A b Ax Ye

µ− − −∆ = − + − +

+ + − −
 


 

2 2 1 1

2 2 1 2 1

( ) ( )
( ) ( )

T T

T T

x A E A D c A y X e
A E A D A E b Ax Y e

µ

µ

− − −

− − −

∆ = + − +

+ + − −
 

x∆2 1D XZ−=2 1E YW−= 
 
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